AQAF

Topic Test 1 Mark Scheme

Probability - Higher

Q Answer Mark Comments
1 1 Bl
10
15 inside the rectangle but outside
. Bl
the circles
147 in total in F and 94 intotal in S Bl
26 in the overlap Bl
2(a) Fully correct:
15
68
2(b) E Bl oe
20 ><2 M1 May be on tree diagram
100 100
3
% or 4% Al oe fraction, decimal or percentage
4(a) Correctly plots (100, 0.16) Bl
0.1 x 20 000 M1 oe
4(b)
2000 Al
5(a) l-a B1
5(b) 1-a)@-b) B2 Bl 1-b seen
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Q Answer Mark Comments
25+30+20+45 or 120 M1
6@a) 45
o Al oe fraction, decimal or percentage
(25+30) _ (20+45)
X
120 119
or
_ ML oe
(25+30) 5 (120 — their 55) ft their 120 from (a)
120 119
3575
6(b) 14280
VLR M1 oe
120 119
oe fraction, decimal or percentage
7150 Al
14280 SC2 7150
14400
7(a) 28 B1
27 : .
7(b) 20 Bl oe fraction, decimal or percentage
32 , .
7(c) %0 Bl oe fraction, decimal or percentage
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